Price sensitivity – elasticity

Price sensitivity refers to the relationship between price and demand for a firm’s products – i.e. what happens to demand if a firm changes its prices.   For most products a change in price will result in a fall in demand and, when shown on a diagram the price and sales data would look like this. 
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If a product has a high degree of price sensitivity, then the firm would expect a change in the price to generate a significant change in demand.    If this % change in demand is greater than the % change in price, then the demand is said to be price elastic i.e. it is very sensitive to any changes. 

If the product has a low degree of price sensitivity then the firm would expect a change in price to have little impact on demand.  If the % change in demand is lower than the % change in price, then the product is said to have price inelastic demand i.e. it is not very sensitive to change in price. 

A product’s price elasticity (PED) can be calculated using the formula

% change in quantity demanded
% change in price
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A product with price elastic demand will have a result greater than + or - 1 e.g. a value of -3.5 indicates price elastic demand.  

On a diagram it would look something like this – where price has fallen from P1 to P2 and Demand has increased from Quantity (Q) 1 to Quantity (Q) 2. 
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A product with price inelastic demand will have a result of less than + or - 1 e.g. a value of 0.8 shows that a product has price inelastic demand. 

On a diagram it would look something like this – as you can see the demand curve is much more vertical suggesting that the change in quantity demanded is much smaller – i.e. the change in demand is less than the % change in price. 
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Usually, the price elasticity of demand (PED) figure is negative. This is because if prices

rise (+) quantity demanded will fall (). If prices fall (-) quantity demanded will rise

). This inverse relationship results in a negative PED sign for most products. The PED
figure tells businesses whether their products have price clastic or price inelastic demand

Price elastic demand indicates customers are sensitive to changes in price. A small rise in
price will lead o a more than proportional drop in sales and therefore fll in revenue. PED
figures of less than 1 indicate price elastic demand, e.g. ~1.5 or 4 (note that no units are
required here).

Price inelastic demand refers to customers being unresponsive to changes in price. A
price rise of 10%, for example, will lead to a fall in sales of less than 10%. The PED
figure will be less than zero but greater than 1 ¢.g. ~0.5 or ~0.1. For businesses with

price inclastic demand, revenuc is usually maximised when prices are increased.
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@ Worked examples

a  When a local cinema increases its ticket prices by 10% it notices sales of tickets fall by 5%.
Calculate this firm’s PED and expl ‘what this means.

P 2
10

.5
This means demand for this cinema’s tickets is price inclastic. For every 1% rise in price, quantity
demanded falls by only 0.5%.

b When a local ice skating rink raised its prices from £11 to £12.32, the number of customers coming
to skate fell by 15%. Calculate the PED of the ice skating rink and explain what this means.

Here, the percentage change in price must be caleulated first
£1232-£11
£11

Now the PED formula can be used:

%100 = 12%

==-12s
2

‘This indicates demand for the ice skating rink is price clastic. Customers are responsive to price
changes. For every 1% rise in price, quantity demanded falls by 1.25%

The formula can also be rearranged to calculate the likely change in the quantity sold following a
price change,

€ Abusiness has a price clasticity of demand figure of ~2.5. The business Towers prices by 14%.
Caleulate what will happen to the number of units sold, as a result of the price change.

The percentage change in quantity demanded = PED figure X price change

ie. =2.5x—14=35% increase in sales
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9 Guided questions

Copy out the workings and complete the answers on a separate piece of paper.

1 A business decreases prices from £4 to £3.50. Consequently,
1200 units sold to 1500 units sold. Calculate the price clast
this firm’s products.

demand rises from
ity of demand for

Step I: calculate the percentage change in the firm's quantity demanded

1500-1200 x100=

Step 2: caleulate the percentage change in its price
L x100=

Step 3: refer back to the PED formula. Divide the percentage change in quantity
demanded by the percentage change in price,

2 A manager decides to raise her prices from £20 to £25. Demand for the products
has a price elasticity figure of ~2. Calculate what is expected to happen to
quantity demanded.

Step I: calculate the percentage change in the firm’s price.

Step 2: multiply your answer to Step 1 by the PED figure.
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@® Practice questions

3 A manager is comparing the price elasticity of demand of goods made by two firms.
‘The results are shown in Table 3.4.

Table 3.4

Company A's product | Company B's product

Percentage change in price -16%

Percentage change in quantity demanded +5%

a Caleulate the price elasticity of demand for company A.
b Caleulate the price elasticity of demand for company B.

4 A business doubles its prices. As a result, sales drop from 80000 to 75000 units.
Calculate this firm’s price elasticity of demand figure and explain its meaning,

5 Ina meeting, three junior managers are trying to estimate the price elasticity of
demand of a product. Matilda believes the product will have price inelastic demand of
0.5 because of the company’s excellent branding. Amy estimates a PED of ~1.5 due
to the competitive nature of the market and there being many alternatives available
for customers. Uwais believes a PED of 1 is more likely.

Upon an increase in price from £8 to £10, sales fall by one third.

Calculate the firm’s actual PED.

b Who was closest with their elasticity estimate?

©  Sales volumes were initially 60000. Calculate the new number of units sold.
d  How has revenue changed due to the price rise?
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